samples = 2
S8 (2)

samples = 3
S7 (3)

X[89] <= 0.333
samples = 6

yes

X[72] <= 0.367
samples = 4

samples = 1
S3 (1)

samples = 1
S5 (1)

yes
X[62] <=10.635
samples = 55
yes 0
X[53]<=1.5 X[66] <=0.117
samples = 17 samples = 38
yes 0 yes no
X[85] <= 0.586 X[94] <=0.134 X[86] <= 0.354
samples = 11 samples = 11 samples = 27
yes no yes no yes no
= - _ *L11* _ *L19*
X[64] <= 1868.685 X[45]1<=2.0 X[77] <= 0.108 _ X[114] <= 2.096 _
= B o samples = 8 samples = 2
samples = 2 samples = 9 samples = 3 S4 (8) samples = 25 S2 (2)
yes 0 es no yes no / \ yes
* % % % % % % %
LS* X[112] <= 0.275 L8* Lo* L10% X[70] <= 0.036 | [ X[113] <= 0.056 X[111] <= 0.321
samples = 1 samples = 8 samples = 1 samples = 1 samples =2 samples = 23 samples = 2 samples = 43
S4 (1) S4 (1) S4 (1) S1(2)
yes no yes 0 yes no yes 0
% % % % % % % %k % %k
Lo* L7 Li2* X[86] <= 0.178 L7 L18* X[72] <= 0.148 X[113] <= 0.056
samples = 7 samples = 1 samples = 2 samples = 21 samples = 1 samples = 1 samples = 34 samples = 9
S2(7) S4 (1) S4(2) P S12 (1) S8 (1) P P
yes 0 yes 0 yes no
= = - _ _ *L38* *L39%
X[75] <= 0.052 X[1]<=8.5 X[64] <= 10203.75 X[87] <=0.16 X[70] <= 0.091 samples = 7 samples = 1
samples = 6 samples = 15 samples = 25 samples = 9 samples = 2 S% 7 Spg (1)
0 yes no 0 yes es no
% % % % % % % % % % % * % * % *
L13 3 L14 3 L15 3 L16 3 L20 X[116] <= 0.675 X[104] <= 0.082 L35 i L36 i L37 i
samples = 5 samples = 1 samples = 8 samples = 7 samples = samples = 22 samples = 7 samples = 2 samples = 1 samples = 1
S1(5) SO (1) S1(4) S1(3) SO (3) P P S9 (2) S7 (1) S6 (1)
0 es
% % % %
L2l X[62] <= 16,371 X[93] <= 0.07 L3a*
samples = ) 16 les = 5 samples = 2
34 (6) samples = samples = S2 (2)
yes 0 es
_ _ _ *[L33%*
X[25]1<=0.9 X[114] <=2.193 X[89] <=0.225 _
_ _ _ samples = 2
samples = 6 samples = 10 samples = 3 S1(2)
0 yes no es
% * * *
sam}%fei | [xrnor<=0.036 | [x(73]<=0.009 Sam;ig | [xt601<=67.0
S3 (1) samples = 6 samples = 4 S7(1) samples = 2
yes 0 es no es
% %k %k % % %k % %k
L2 X[116] <= 0.727 | [ X[62] <= 19.283 L29% L31* L32*
samples = 3 samples = 3 samples = 2 samples = 2 samples = 1 samples = 1
S0 (3) p P S3(2) S5 (1) S4 (1)
yes no yes no
*L25% *L26%* *L27* *L28%*
samples = 2 samples = 1 samples = 1 samples = 1
S4 (2) SO (1) S8 (1) S13 (1)

X[22] <=13.5
samples = 303

yes no
X[83] <= 0.054 X[59] <= 195.0
samples = 251 samples = 52
yes 0 es no
X[25] <= 0.408 X[75] <= 0.095 X[12] <= 3.5 X[104] <= 0.011
samples = 241 samples = 10 samples = 6 samples = 46
0 yes  |no yes no es no
*k %k *k %k *k %k %k %k
X[62] <= 21.09%4 L LT L0 | [ x4 <=2261 X[99] <= 0.279 LSt
samples = 186 samples = samples = samples = samples = 4 samples = 44 sampies =
S0 (9) S1 (1) S4 (2) S4 (2)
yes no yes no es
% % % %
X[70] <= 0.16 | [ X[70] <= 0.003 X[] <= 0045 T X(75]<=0.063 | | 1T
samples = 80 samples = 106 samples = p samples = 43 P
S13 (2) S6 (1)
yes 0 es no / \ es
% % % %k % % %k %
X[114] <= 2.365 X[73] <= 0.095 La9® X[34] <= 2.5 L105* L106* X[89] <= 0.009 L116*
samples = 71 samples = 9 samples = 3 samples = 103 samples = | samples = | samples = 42 samples = 1
S5 (3) S0 (1) S6 (1) S9 (1)
yes 0 yes no es no es no
— *L45% — *L48* — — *L108* —
e
P S4 (12) p 32 (2) p p S8 (1) p
0 / \ yes no es no es no
% % % % % %k
X[86] <= 0.363 La6* La7* X[53] <=3.5 | [ X[96] <= 0.025 X[114] <= 2.028 X[47] <= 11.5 L109% X[86] <= 0.168
samples = 16 samples =6 samples = 1 samples = 9 samples = 7 samples = 27 samples = 60 samples = 1 samples = 40
P S3 (6) S4 (1) P P P p S8 (1) P
yes no yes 0 yes no yes no es no es no
% %k
X[66]<=0.108 | | X[47]<=4.5 X[87]<=0.143 | | X[2]<=1.5 Salez‘; _, | [xen<=4s X[114] <= 1.919 X[110] <= 0.024 X[9] <= 2.5 X[98] <= 0.065 X[62] <= 28.123 X[45] <= 5.5
samples = 13 samples = 3 samples = 3 samples = 6 S% 2) samples = 5 samples = 5 samples = 22 samples = 45 samples = 15 samples = 35 samples = 5
yes 0 es no yes  [no yes no yes no yes 0 es no yes 0 es no yes no es no
%k %k %k %k %k %k k %k k %k k %k k %k %k % *k %k %k %k *k %k %k %k
X[90] <= 0.03 Las*™ Lad™ L0 Lot Lo2* Lo3* Los* X[4] <= 10.0 Lo%* X[70] <= 0.067 X[78] <= 0.011 X[68] <= 0.001 X[111] <= 0.188 Lo2* Lo3*™ X[86] <= 0.22 X[98] <= 0.003 L1127 X[5] <= 11.5 L115*
samples = 12 samples = 2 samples = 1 samples = 2 samples = 1 samples = 2 samples = 4 samples = 2 samples = 3 samples = 2 samples = 3 samples = 3 samples = 19 samples = 41 samples = 4 samples = 3 samples = 12 samples = 3 samples = 32 samples = 2 samples = 3
p S1(2) S3 (1) S1(2) S9 (1) S1 (1) S2 (4) S6 (2) p S1(2) p p p p S4 (4) S12 (3) p p S0 (32) p S0 (3)
yes no yes no yes 0 yes no es no es no es no es no
% % %k % % % % % % % % % % % % % % %
La0* X[100] <= 0.195 L56% X[96] <= 0.156 L6v*: X[98] <= 0.106 L63* X[100] <= 0.064 X[111] <= 0.059 X[42] <= 5.0 X[114] <= 2.702 | [ X[51] <= 20.0 Loa* X[111] <= 0.13 L110% LI L113% L114%
san;plle(sl)— I samples = 11 saré%) ée(slg ! samples = 2 sané%le(si)— I samples = 2 sanépzleésl)— I samples = 2 samples = 17 samples = 2 samples = 24 samples = 17 san;plle(s3)— 3 samples = 9 saréq{) ée(Sﬁ I sang%leé)— 2 Sarélﬂe(slg I san§p716(sl)— I
%s \1‘0 yes  |no yes 0 yes  [/no yes ko es yes 0 es no es no
%k %k % % %k %k %k %k %k % %k % %k % %k % %k % %k %k %k %k %k % %k %k
Lal® L4z Ls7+ L58* Lo1® L62* L6a* L65* L66™ X[118] <= 0.158 L7o* Ly X[105] <= 0.22 L83* L34 X[69] <= 0.176 X[81] <= 0.005 X[48] <= 110.0
samples = 10 samples = 1 samples = 1 samples = 1 samples = 1 samples = 1 samples = 1 samples = 1 samples = 1 samples = 16 samples = 1 samples = 1 samples = 22 samples = 2 samples = 3 samples = 14 samples = 4 samples = 5
S4 (10) S7 (1) S7 (1) S11 (1) S7 (1) S4 (1) S3 (1) S1 (1) S5 (1) p S4 (1) S10 (1) p S13 (2) S0 (3) P P p
yes no yes 0 es no es no es no
*k %k %k % % k
L67* X[12] <= 8.5 X[87] <= 0.139 X[100] <= 0.121 X[86] <= 0.286 X[4] <= 16.5 Los* X[42] <= 0.5 X[48] <= 70.5 L101*
samples = 14 samples = 2 samples = 10 samples = 12 samples = 10 samples = 4 samples = 1 samples = 3 samples = 4 samples = 1
S0 (14) P P P P P S4 (1) P P S5 (1)
yes  /no yes 0 yes no / \ es es no
%k % %k % % % % %k % %k % % % % %k %
Los* Le9* X[91] <= 0.019 L76* X[69] <= 0.104 | [ X[78] <= 0.01 X{118] <= 0115 | [X[114] <= 2374 LY0 Lo1* X[85] <= 0.982 Lo8* Loo* L1007
samples = 1 samples = 1 samples = 6 samples = 4 samples = 5 samples = 7 samples = samples — samples = samples = 1 samples = 2 samples = 1 samples = 2 samples = 2
S0 (1) S9 (1) P S6 (4) p P P p S9 (3) S11 (1) P S10 (1) S8 (2) S0 (1)
yes 0 yes  [no yes 1o \ \\A - N
%k %k %k %k %k %k %k % %k % %k %k %k %k
X[66] <= 0.06 X[1]<=40 | [X[61]<=14.0 LT | [ X621 <=27.388 L LT 1 [xoi<=o. 197 LS L Lo D
samples = 3 samples = 3 samples = 2 samples = samples = 3 samples = samples = samples = samples = samples = samples = samples =
S2 (3) S4 (4) S3 (2) S1 (3) S0 (2) S11 (1) S13 (1)
yes 0 yes  |no es no yes no / \
*LT72* *L73* *L74* *L75% *LT77* *L78* *L80* *L81* *L86* *L87*
samples = 2 samples = 1 samples = 2 samples = 1 samples = 1 samples = 1 samples = 1 samples = 2 samples = 1 samples =
S0 (1) S0 (1) S4 (1) S4 (1) S0 (1) S6 (1) S4 (1) S0 (2) S5 (1) S4 (1)



